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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3}, or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

The more internal commitment is desired, -------—---—---—--- -
1) this involvement would be the greater

2) greater would be this involvement

3) the greater this involvement would be

4) would be greater this involvement

In this model, you don't need the old command-and-control approach, —-------—--—-- to
keep people in line.

[) which was designated 2) to be designated

3) designated it was 4) that was designated

Because they are external to workers’ jobs, task purposes depend not only upon
workers’ activities, ~—----—---m--—- -

1) as well as on outside events 2) but on outside events as well

3) also outside event as well 4) they do also on outside event

It is important that work tasks ----—-----—-—--- or allocated so that individual workers are
given whole projects where possible.

1) are designed 2) to be designed 3) designed 4) be designed

Only when we had eaten the pie -----—---------- it was out of date.

1) we had realized that 2) that was realized

3) did we realize that 4) we realized the fact

Analysts remain cautious about the company’s future ---------------—- it has performed
strongly over the past vear.

1) however 2) such that 3) even though 4) notwithstanding
The majority of customers were satisfied with the food, -—-—-—-----———- compared with

just over 100 who responded negatively.

1) with just over 400 giving a posilive answer

2) just over 400 gave a posilive answer

3) a positive answer to have been given by just over 400
4) duc to a positive answer was given by just over 400
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The individual members of the group were not among the top in the organization, yvet

their synergy was so remarkable -——-—-cmeeeeeen first place.

1) vet again they won 2) for which to win

3) for them to win 4) that they won

It is in the place that tales oceupied in the lives of the slaves and ----------------- that the

clearest resemblances to African tradition can be found.

1) the meaning to derive from them by slaves

2) in the meaning slaves derived from them

3) derived from them the meaning by slaves

4) the meaning which salves derived it from them

~-=--m-mm-——----- taking an extra cupcake off the food line in the cafeteria, Rasheen beguiled
the server with a bright smile and a shrug and said, “It’s for my friend who forgot to
take one when she picked up her lunch.”

1) Caught 2) To be caught 3) Having caught 4) For being caught

PART B: Written Expression
Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the

sentence to be correct. Then mark the correct choice on your answer sheet.

When one buys products online, you should be sure that vou know
1 z 3
the return poliey of the company.
4

Although any destruction of vitamins caused by food irradiation could be
1
counterbalanced by the use of diet supplements, but there may be no protection
2 3
from carcinogens that some fear might be introduced into foods by the process.
4

So much of modern fiction in modern literature is autobiographical, and sv much
1
of the autobiography fictionalized, then the genres sometimes seem largely
s 3

interchangeable.

4

In early period of human history, when vovages and travels were not undertaken
1
from the view of amusement or instruction, or from political or commercial

2
motives, the discovery of adjacent countries was chieflv affected by war, and
3

of distant regions bv commerce.

4
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15- To many of us, it is inconceivable that having a computer once considered as
1 2
a luxury because now we cannot imagine doing business without data programs,

3

c-mails, viden conferencing, and the Internet.
4

16- 1In her joh as an operator for the police department hot line, Tamika discovered
1
it was difficult to get people to speak calmly and slowly in emergency.

17-  Whilc the plays of Christopher Marlowe were ecnormously successtul

1
during his lifctime, most contemporary crities find them inferior
2 3
to William Shakespeare.
4

18- When there had been a recent infestation of termiies in the house became evident

1 2 3
as soon as the contractors removed the old paneling.
4

19-  If vou interviewed a random sample of business school students in 1988, the

1
concept of environmental markets would be foreign to virtually cvervone vou
2 3
spoke with.
4

2{(}- The HDR resource base is generally defined to include crustal rock that is hotter

1 2
than 150°C, at depths less than ten kilometers, and can be drilled with presently
3 4

available equipment.

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3}, or (4) that best completes the blank,
Then mark the correct cheice on your answer sheet.

21- This latest proposal will ercate more —--—--m-cmeeeemn tape, which will harm the growth of
small busincsses.
1) blue 2) black 3) while 4)red

22- In the end, the success of the business --------—-----—-- all down to supply and demand.
I) reduces 2) boils 3) forces 4) evaporates
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Can we just modity the old company brochure or do we have to start again from

PSRN,

1) ground 2) bottom 3) outline 4) scraich

This scheme should help to -—-----—----—-- feelings of satisfaction amaong all our clients.

1) enhance 2) enlarge 3) enloree 4) entail

The initial ----------- on equipment is high but the day-to-day running costs are quite low.
1) outlet 2) outcome 3) outlay 4) outset
-----=-——--—--—-- from his work as a business trainer, he also runs a chain of ¢lothing stores.
1) Except 2) Addition 3) Apart 4) l'ar

Market research needs to be carried ----—----—---—----- to analyze the existing competition in
the snacks market and any new trends in consumer behavior.

1) away 2) out 3)in 4) through

Branding often seems something in which large companies invest huge amounts of time
and money but which is -----—--------—-- small companies who have to focus on the day-to-
day task of keeping the revenue coming in.

1) irrelevant to 2) reminded of

3) involved in 4) commensurate with

I have to confess due to the problems we are grappling with the investment has -----—---—--
to almost half of its original value.

1) attached 2) dwindled 3) inflated 4) disclosed

The company is planning some really --------—-----—- c¢hanges in their management
structure.

1) qualifving 2) speculating 3) sweeping 4) imposing

Hoping to the black mark from his rceord, Bart conducted himself with
proper decorum during the remainder of his tenure,

1) restore 2) cllace 3) surpass 4} deduce

Technical glitches are -—--—--—---—-— , frustrating as it is for cveryone,

1) innovative 2) pragmalic 3) lexible 4) incvilable

As more and more hooks arce ordered through the Internet, hoolstores have suftered
............. , and have closed.

1) accession 2) attrition 3) alleviation 4) ambition

After a bricf summary of proper swimming technigque, the coach —--—-cccceceeeeee the
specifics of cach stroke, spending 30 minutes alonc on the backstrolce.

1) inspired 2) correlated 3) depicted 4) adopted

The -—----—--mmmmmm of voters was so great that less than half the people who were eligible
to vote actually bothered to do so.

1) apathy 2) peril 3) resemblance 4y authority

PART D: Reading Comprehension
Directions: Read the following three passages and decide which choice (1), (2), (3), or (4)
that best answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:
Birds arc generally considered to have evolved Irom a small, two-legged, lightweight

dinosaur. There are two quite dilTerent theorics coneerning this evolution. Ong idea,
the arboreal theory, is that birds™ ability to fly originated from a climbing and gliding
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ancestor. In this view, bird ancesiors climbed trees and eventually learned Lo parachute
1o the ground, then to glide from ong tree to another, and finally o [y, This trait would
perhaps have originated as an escape from predators or in the search for food such as
leaves, seeds. and fruits. Climbing into trees and nesting in trees for safety may also
have preceded gliding and flving. It has been suggested that the small clawed digits at
the mid wing of Archaeopteryx, the earliest known bird, allowed the animal to haul
itself up into trees. An analogous feature is found in the chicks of a single living bird.
the hoatzin of the Amazon Basin. This bird nests in trees overhanging water. The
voung swim to the base of the tree and then use two small functional claws at the
middle of cach wing 1o clamber back up into the nest. Hoalzin chicks lose these claws
as adults. However, the lingers ol juvenile hoatzin arc assurcdly not a primitive [cature
derived from Archacopleryx but, rather, a sccondary derived characteristic.

The sceond hypothesis about Might, the cursorial theory, is that birds evolved from
ground-dwelling ancestors, In this view, [eathers first evolved as insulation for
temperature control because the reptilian ancestor was becoming or had already
become warm-blooded. These small reptiles ran along the ground and captured insects
and other small animal prey. The feathers of the forelimbs became elongated and were,
perhaps, used to sweep up and capture insects, much as a butterfly net would be used.
From this stage, the animals acquired the ability to jump into the air to capture prey,
and the developing wings helped to stabilize their bodies and let them down gently to
the ground. Finally, they used the forelimbs as wings for flight. It is also possible that
Icaving the ground could have been an antipredator adaptation.

What docs the passage mainly discuss?

1) Similaritics between primitive birds and certain small dinosaurs

2) Ilypotheses about the development of [light in bird anceslors

3) Tow the need Lo escape predators contributed 1o the evolution of Tlight in bird

4) The reasons scientists believe that birds evolved from reptiles

According to the arboreal theory, which of the following abilities was probably the

earliest to develop in bird ancestors?

1) Gliding from tree to tree 2) Climbing trees

3) Parachuting to the ground 4y Nesting in trees near water

According to the passage, what may have been the function of the small-clawed digits at

the midwing of Archaeopteryx?

1) Carrving food into nests in trees

2y llelping it to land when gliding from tree to tree

3) Fighting against predators

43 IPulling itself up the trunks of trees

Why is the hoatzin mentioned in the first paragraph?

1) To support a theory about the function of midwing claws in a primitive bird by
comparison with a modern bird

2) To demonstrate how the hoatzin used its midwing claws to build nests over waler
like the Archacopleryx

3) To suggest that some ol the primitive Iealures ol carly birds can still be usclul to
modcrn birds

4) To arguc that Archacopteryx chicks had functional claws at the midwing, but adult
birds of that species did not
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According to the cursorial theory, the ancestors of birds --—-—-cccceceeeeo, 2

1) were not dinosaurs 2) lived on the ground

3) remaincd cold-blooded 4) were plant caters

According to the cursorial theory, why did bird ancestors first develop feathers?
1) Ta escape from predators more effectively

2) To increase their ability to capture prey

3) l'o maintain a relatively stable body temperature

4) To develop the ability to jump into the air

The word *acquired” in paragraph 2 is closest in meaning to -----—--—-------—--

1) required 2) recovered 3) gained 4y lacked
The word *“they” in paragraph 2 refers to --—--—--—--—--—-,
1) animals 2) prev 3) wings 4y forelimbs

According to the cursorial theory, which of the following characteristics of bird
ancestors developed last?

1) The presence of elongated feathers on their forelimbs

2) The ability to jump into the air and land gently

3) The ability to control their body temperature

4) The usc of their forclimbs as wings o [y

PASSAGE 2:

'The spacecratt Vovager 1 was launched on September 5, 1977, to fly by Jupiter and
Saturn, while Vovager 2, which was launched two weeks earlier, was to fly by Jupiter
and Saturn, and possibly Uranus and Neptune. Both spacecraft were also expected to
observe a number of Jupiter’s and Saturn’s satellites, of which litan was considered
by far the most important, because a study of its atmosphere might vield important
clues about the evolution of the early atmosphere on Earth. It was planned that
Vovager 1 would i1y by Titan but, if it failed, Vovager 2 would be reprogrammed to
{1y by Titan, ¢ven though it would then have been unable to visit Uranus or Neplune.

The two Voyager spaceerall, cach welghing over 800 kalograms, were over three
timecs as heavy as their predecessors—the Pioncer spacecrali—and, as they were
designed [ive years later, they could use more complex and sophisticated equipment,
'The main operational difference was the use of a much more powerful onboard
computer system that allowed all spacecraft functions, except for trajectory changes, to
be controlled automatically on board. This was essential. as it would take over eight
hours for radio waves to travel from Neptune to Earth.

All planetary spacecraft are sophisticated systems that are expected to work
remotely in extreme environments for periods of many months, if not years. Not only
are the forces experienced during launch severe, but so are the temperatures on the
panels that face the Sun and those pointing towards space. In addition, the high-energy
particles in the solar winds can cause electrical discharges on board the spacecraft and
these can destroy integrated circuits. Oil evaporates in space and can ruin Ienses and
mirrors, 50 dry lubricants have 1o be developed. All these problems, and many more,
have 1o be overcome. In the case ol Vovager 2, the spacceerall would have o operate
satisfactorily when it was at Neptune some 4,430 million kilometers away from Farth
twelve years alier launch, assuming that Voyager 1 had made a successlul {Tyby of
Titan.
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49-

Which of the following best describes the tone of the passage?

1) Cuphoric 2) Amusing

3) Impartial 4) Polemical

It was originally planned that Vovager 1 would observe all of the following EXCEPT

1) Titan 2) Jupiter 3) Neptune 4) Saturn

The author uses the word “predecessors” in paragraph 2 to indicate that the Pioneer
spacecraft were --—-----—--—-—--,

1) made of very light materials 2) designed for long journeys

3) produced earlier than the Voyagers 4) more successful than the Vovagers

The main advantage of the powerful computer system used on the Voyager spacecraft
was that most spacecraft functions could be ---—--—---—-—-—- ;

1} controlled from within the spacecraft

2) reprogrammed after eight hours

3) changed according to the spacecraft’s trajectory

4} operated from Earth or Neptune

All of the following characteristics of the Vovager and the Pioneer spacceraft are
compared EXCEPT - .

1) weight 2) speed 3) lime ol design 4) type ol equipment
The word “these” in paragraph 3 refers to -—--——-—-cmoeeeo,

1) lecmperatures 2) discharges 3) spaccecrall 4) circuits

The phrase “assuming that” in paragraph 3 is closest in meaning o —--—--— e :

1) but 2) and 3) so 4yir

Which of the following is mentioned as a reason that the visit of Voyager 2 to Neptune
would be difficult?

1) The journcy from Earth 1o Neptune would take a long time.

2) The spacecratt would remain at Neptune tor twelve vears.

3) There would be problems launching the spacecraft.

4) Vovager 2 would be replacing Vovager 1.

PASSAGE 3:

Human beings have long inhabited the region of the Nile River valley in the area that
is now modern-day Egypt. At some point around 5000 B.C. they began to grow crops
and keep domesticated animals, and to live in small permanent settlements. Over time
these scitlements increased inosize, with some outstripping others until they formed
centers that controlled surrounding areas up and down the Nile River. In the late
Predvnastic period (3600-2920 B.C.) in Upper Egypt there were political centers at
Hicrakonpolis, Nagada. and probably This. The cemeterics scrving these towns show
that social stratification was well developed. For instance. at Hicrakonpolis a numbcr
of tombs stand out by reason ol their wealth in funerary cquipment and the quality of
their construction. Ong cven had decorated walls, and was almost certainly buill lor a
late Predynastic ruler of the region.

Although these cities and their subject regions were separate political entities, they
all shared a common culture, today called Nagada 11/[11 after the archaeological site at
Nagada where it was first encountered. Because there are no written texts from this
period, the evidence for the culture comes from its material remains recovered through
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37-

58-

59-

archacological excavation and [rom the arl forms that some of these items display.
Nagada II/1IT is distinguished from carlier cultures of Upper Fgypt by its greatly
increased social stratification and the growing sophistication of its products.
Continuity is shown, however. by the manufacture of stone maceheads attached to
handles and used as weapons. and of stone palettes used to grind green and black
pigments to make eyve paint, since both had also been produced in the preceding
periods. One immediately recognizable product is a type of decorated pottery that is
painted in red line on a light vellow background. The subject matter includes boats,
plants, animals, and human beings disposed over the surface of the vessel.

In the north of Egypl, where dillerent geographical conditions make cxcavalion
more diflicull, some sites have been discovered that show that for most ol the
Predynastic period the north was culturally distinet from—and legs rich than—the
south,

It can be inferred from the passage that prior to 5000 B.C., inhabitants of the Nile River
valley —-—-----mmommemee,

1) constructed richly decorated tombs

2) established powerful political centers

3) developed a thriving agricultural system

4) moved around from place to place

The word “outstripping” in paragraph 1 is closest in meaning to -—----—--—----—-,

1) constructing 2) contacting 3) surpassing 4) surviving

The phrase “by reason of” in paragraph 1 is closest in meaning to -—-------—----—-- ;

1) on account of 2) in spite of 3) as motive for 4) in readiness for
The word *“One” in paragraph 1 refers to -—---—----——-—-- :

1) town 2) lomb

3) luncrary cquipment 4) construction

The author refers to ancient Egyptian burial practices in order to show that the
Egyptians had --—--—--—-——-,

1) devised simple [uncral rituals

2) inhabited the region since belore 5000 B.C.

3) constructed buildings very quickly

4) developed a class-based society

According to the passage, information about the Nagada 11/111 culture is derived from
which of the following?

1) [tems unearthed by archacologists and others

2) The sophistication of the social structure

3) The discovery of a number of written texts

4) Comparisons with settlements in modern-day Egypt

According to the passage, the “manufacture of stone maceheads” mentioned in
paragraph 2 indicates that the Nagada I/II culture —--------—-----—-,

1} produced sophisticated tools for its builders

2) used stone in preference to other materials

3) decorated its items with complicated art forims

4y showed a direct connection with earlier cultures

forum.konkur.in



www.konkur.in

Ve dxeno 461F (Hf'!l\ A5 ‘S}Q-a:'* J3-01 g JISSL._.A.AJ e Ut AS a0y

6ll-  All of the following statements are truc about the decorated pottery mentioned in the
passage EXCEPT -———mmmmeeeeeeee
1) it has a yellowish color and 1cd designs
2) it is decorated with green and black pigments
3) it has drawings of people and animals
4) it is easily identitiable by experts

Y e g ko sy oy bellogld (o (i) il b

PART A: Structure
Directions: Choose the word or phrase (1}, (2), (3}, or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

61- The volunteers were a special corps of people, ------—- together and ready to support one
another.
1) that were always able to be working 2) have the ability to work always
3) they were always able to work 4y always able to work
62-  You will never have the relationships ------—------- you drop vour pretenses.
1) that vou want to despite 2) you want unless
3) where you want alithough 4) which vou want being in provided that
63- --—--—--—--—-- on their personal experiences with others, people also rely too much on
introspection.
1) Besides being overly reliant 2) Not only arc pcople overly reliant
3) Be reliant overly 4) They being reliant overly
64- Some exoplanct systems found by the Kepler satellite ——----——a—-—- tightly packed orhits.
1) have plancts with 2) they have plancts around
3) 1o have plancts of 4) that their plancts arc in
65- Exercising every day, cutting down on calories, and avoiding ice cream and other
desserts, ~——-—---———--- last summer.
1) twenty pounds were lost 2) it was twenty pounds that were lost
3) [ was able to lose twenty pounds 4) there were twenty pounds lost
66- The judge insisted -----------—--- be afraid of anything and tell the truth.
1) that the witness not 2) on the witness she did not have to
3) the witness not to 4} that the witness did not have to

67- The background is carved away, ------—--—---
1) and leaves the design area to be slightly I'Ell%f.‘d
2) which leaves the design area to slightly raise
3) to leave the design area is slightly raised
4y leaving the design area slightly raised
68- The first peoples ---—---—--—-—- sustained themselves as hunters and gatherers.
1) inhabited what today is Turkey
2) ol what today is Turkey inhabited and
3) to inhabit what today is Turkcey
4) who inhabited what Turkey is today, they
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6%-  All the streets were inundated with water in the morning; there -—-—--—----- a cloudburst

during the night.

1) was supposed to have been 2) must have been

3Yyhad to be 43 has had to be
70- An airplane engine manufacturer developed a new engine model -------------- the earlier

model, which was still being manufactured.

1) lacking in safety features 2) lacked in safety features in

3) with safety features lacking in 4} to lack safety features from

PART B: Vocabulary
Directions: Choose the word or phrase (1}, (2), (3}, or (4) that best completes the blank.
Then mark the correct choice on your answer sheet.

71-  The government intends to do whatever it takes to -----—------- growth and generatc jobs.
1) atlain 2) stimulate 3) embody 4) arouse

72-  The teller said 1 would have to have two forms of identity ------------—- before she could
cash the check.
1) verilication 2) atiestation 3) compatibility 4) presentation

73- The judge found the manager -—-------—-- for the accident, so they had to pay for all the
damages in addition to a large fine.
|} intentional 2) deliberate 3) conscionus 4) culpable

74- We employees have ----------—-- when it comes to choosing the hours we prefer to work,
s0 that’s a big plus, particularly for those of us who are parents.
1) autonomy 2) spontaneity 3) variability 4) indifference

73- The sales representative first showed me a four-deor blue sedan, which was the -------—--
of what I was looking for, so I told him I wasn’t interested in giving the car a test drive.

1) exemplar 2) objection 3) antithesis 4) skepticism

T6- We have set ourselves clear objectives and are -----------—- we will be able to balance the
books.
1) predictable 2) confident 3) greedy 4) consistent

77-  Globalization means that production of car parts, components, and subassemblies like
engines is ----—-----—-- to factories all over the world.
1) outperformed 2) outstripped 3) outnumbered 4) outsourced

78- There is --------—-—-- competition, but it’s healthy for the market because consumers
benefit.
1) prophetic 2) lueid
3) fierce 4y articulate

79- He remained -------—--—---- the advice offered to him by his fellow employees, so, as a
consequence, he was soon out of a joh.
1) irrelevant to 2) cautious about
3) cognizant of 4y heedless of

8- Our ncw manager announced she will —--—--—--—-—-- the wearing of jeans to work starting
next week because she thinks jeans are too informal for office apparel.
1) convicl 2) proseribe
3) circumvent 4) [rustralc
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PART C: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3}, or (4) best fits
each space. Then mark the correct choice on your answer sheet.

At exactly 9 am. warm meals are collected from hundreds of thousands of Mumbai
homes to be (81) --—=-mmmmmnmm- to their owners in time for lunch. The [ood, usually some
kind ol curry, vegelables and naan bread. crisscrosses the sprawling cily, travelling by
bicycele, train and oot (o its (82) ——-———-——---—- recipient. The process 15 (83) ———--——-----
a few hours later when the tilTin boxes {metal containers usually stacked three rows
(84) - ) arc taken back home.

All of this enormous logistical management is the responsibility of the city's
dabbawalas, a group of white-cap-toting individuals who (85) ----—-----—--- . squeeze
and jolt around the bustling metropolis to get the food to its proper (86) -------------- :

And although the business model is rather (87) -------------- , offering only one
service, the world is taking (&8) ------n-m--- . In an attempt to learn a few (89) ---mm-mmm-
from the tiffin couriers of Mumbai.

Despite the approximately 400,000 (90} ~-=eemmmmuemm- way deliveries on a daily basis,
experts say that the dabbawalas {(91) -———---—--—-- very lew crrors in their deliveries.
The 3000 dabbawalas make a mistake only about once cvery two months. This
(92) -~ figure would average about one wrong delivery in every six million.
Forbes has reported that the association has carnced a Six Sigma (93) -———-—- , which
has also been given to businesses with (94) ------—--- low error rates such as GE.
Motorola and many others. Such an average equates to 99.9997 percent perfection.

Dr. Pawan Agarwal. director of the Mumbai Dabbawala Education Centre. said
that mistakes are simply not on option to a dabbawala. “Human beings (95) -----—---- a4
he was reported as saving by Leadereconomics. ~“so we accept that it’s alright to make

81-
82-
83-
84-
835-
806-
87-
88-
89-
H}-
91-
92-
93-
94-

mistakes, but to the dabbawalas, error is horror.”™

1) possessed
1) lamished
1) revoked
1) ol height
1) revolve
1) oven

1) restricted
1) notice

1) foibles
1) other

) intend

1) nominal
1) rate

1) ingenuously

1) err

2) delivered
2) ordered
2) retracied
2) higher
2) rush

2} route

2) detailed
2) atiention
2) snags

2) another
2) make

2) subtle
2) rating

2) dominantly

2) flourish

3) exposed
3) expected
3) reversed
3) heighiened
3) bypass

3) ingredient
3) unique

3) loresight
3) tricks

3) single

3) perform

3) impressive
3) rater

3) cleverly

3) survive
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4) granted

4) requested
4) recollected
4) high

4) dally

4) destination
4) preeisc

4) unilormity
4) tendencies
4) round

4) report

4) modest

4) rated

4) extremely
4y excel
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PART D: Reading Comprehension
Directions: Read the following three passages and decide which choice (1), (2), (3}, or {(4)
that best answers each question. Then mark the correct choice on your answer sheef.

PASSAGE I:

If so much protessional advice, even if implemented correctly, leads to consequences
that ar¢ counterproductive because ol the inconsistencics and gaps it contains, why
have so many uscrs [ound that advice 1o be helplul? Solving this puzzle is morc
important than we might initially realize. Something powerlul and fundamental is
going on here—somcething that goes right to the heart ol what 1 think ol as the theory
ol action.

l.et me begin with an obvious premise: human action is produced by human beings
using their mind/brain. No meaningful action is possible without an internally
consistent design. script, or scenario that specifies—for a given set of conditions and a
given set of governing values—intended outcomes, as well as the actual behaviors
required to produce those outcomes. Thus, the heart of each design is a causal claim: if
we act in such and such a way, the intended consequences will likely occur, subject to
the constraints of the underlving values.

Good designs pave the way lor cllective action—that is, action that leads to the
intended conscquences with [ew, il any, counterproductive side cllccts. I any such
side clTeets do occur, they must be specilied ahead of time. Morcover, the results ol
cllective action persevere and do not harm whatever level ol effectiveness currently
exists. Implicit in this definition is the further requirement that all actions should be
monitored to see if they are leading to their intended results.

Advice of the sort under discussion is just a proposed design or script for action. As
such, the causal claims embedded in advice can be tested and should, therefore. be
crafted in ways that allow them to be tested. These tests should be as robust as possible
to reduce, if not eliminate, all sources of error. And they should be implementable in
evervday lite; otherwise they cannot be of much help to those taking action.

96- Which of the following best deseribes the organization of the passage?
1) A conundrum is mentioned and a resolution Lo 1t 1s presented.
2} A problem is identified, two hypotheses are advanced to resolve il and both arc
rejected.
3) A problem is identificd, (wo resolutions are proposced, and a solution combining
clements of both is recommended.
4) Two hypotheses are discussed, and evidenee in support of onc is presented.
97-  Which of the following hest describes the author’s attitude towards the desirahility of

advice?
1) Pointed disagreement 2) Measured neutrality
3) Qualified approval 4y Profound ambivalence
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98-

99-

100-

101 -

10:4-

According to the passage, effective action has which of the following features?

1) It paves the way (or {urther positive actions.

2) It helps people o get out of the vicious cirele ol any causal relationship.

3) [t is more influenced by a set of conditions than by a set of subjective values.

4) [t can bring about the intended outcomes with almost no undesirable side effects.

Which of the following represents the causal claim described in paragraph 27?7

1) advice - action 2) seript - action

3) design - outcome 4y action - outcome

The author states that an action without an internally consistent design -----------—-- :

1) is without precedent

2) may only accidentally lead to the desired outcomes

3)is possible but is to be avolded in that it is very likely to turn out to be
counterproduciive

4) should be monitored carclully to be stooped whenever it leads Lo inconsistent results

The author argucs that when an effective action is taken, -=--=-accaeee ;

1) no harmful cffcets are likely o surface

2} it should be monitored to guarantce that it would lcad o the outcomes for which it
has been designed

3) there would be no need to subject it to any testing procedure to ensure its
workability

4) the outcomes it culminates in may make it necessary for its designers to reshape the
underlying premises and values the action is based on

The word “them” in the last paragraph refers to ---—----—-—-,

1) claims 2) actions 3) script for actions  4) action planners

According to the passage, the side effects of a carefully erafted action ------—--—--—--,

1) cannot be reliably embedded in the “design™ phase of the action

2) has 1o be carclully thought ol during the *design™ phasc ol the action

3) arc almost always inevitable even under perfectly ideal circumstances

4) may, during the implementation phase ol the action, outweigh the benelicial
oulcomes it generalgs

The word “robust” in the last paragraph could best be replaced by -—--aeeceaaec .

1) conventional 2) innovative 3) predictive 4) tcnable

PASSAGE 2:

I'rom the beginning of the twentieth century until the 1970s, it was reasonably accurate
io think ol workers™ roles in terms of compliance. Sound management meant
simplifying work tasks. producing thick rule books, and building tall hierarchies with
close supervision to make sure that workers complied with the rules. This was
command-and-control management in bureaucratic organizations. [t was supported by
the economics of the times: in a stable environment with heavy demand. the rules
produced standardized products and services that met customer needs, and the
simplified work meant lower pay and training costs for workers.

By the beginning of the twenty-first century, however, technology had changed the
ceonomic cquation. Telecommunications created a truly global markeiplace, with
intcnsce competition and the need for quicker responscs. Customers demanded greater
quality as well as customized products and services. Most organizations restructured o
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(Matter, more agile designs that emphasized cross-lfunctional tcams and the [ree MNow of
information, Inside the organivation. computers and automation reduced the number of
low-skilled jobs and increased the need for worker judgment. [Low-skilled jobs that
could not be automated were often offshored to countries with lower wages.
Computers provided workers access to the information that enabled decentralized
decisions.

‘These conditions. as Warren Bennis had predicted years before, brought about the
decline of bureaucracy. The tall hierarchies and c¢lose supervision prevented workers
from responding quickly to customer needs. The same was true of the detailed rules.
One by one. Fortune 500 organizations announced large layvolls of middle managers
and lirst-level supervisors, and CLOs condensed rule books down 1o a few guiding
principlcs.

In most organivations, then, it is no longer a question of middle managers” allowing
workers more choice and participation, Many levels of middle management and
supervisory positions have heen eliminated, and an organization needs its workers to
take on many of their roles. Workers are often in different locations from their
managers. making close supervision impractical. Instead of complyving with detailed
rules, workers are now asked to be proactive problem solvers. They must make
adjustments, co-ordinate with other organizational plavers, innovate, and Initiate
changes. Workers are becoming strategic partners of top management, deciding the
actions needed at the grassroots level to meet their organization’s goals.

What is the best title for the passage?

1) Burcaucratic versus Non-burcaucratic Organizations

2) Worker Responsibility Equals Productivity

3) A Justifiable Change in Workers® Roles

4) A New Generation of Managers

All of the following were features of sound management before the 1970s EXCEPT ------ ;
1) emphasis on worker judgment 2) simplified work tasks

3) close supervision 43 thick rule books

Which of the following best describes the author’s attitude towards the relationship
between command-and-control management in bureaucratic organizations and the
concerned economics of the times?

1) Contemptuous 2) Understanding

3) Interesied but skeptical 4y Angry vet resigned

What is the primary purpose of paragraph 2?

1) To chronicle the events that led to the advent of a new management system

2) To compare and conirast a new trend with a previous one

3) To dclineate the propertics ol a new cconomic cquation

4) To discuss the impact ol a truly global markeiplace

The word “otffshored™ in paragraph 2 is closcst in meaning o -—-----m-mmno- .
1) transformed 2) relegated
3) reverted 4) attributed

The author refers to “Warren Bennis” in paragraph 3 in an attempt to ——-——caceeeeeo :
') provide a response to a detractor of the 21th economic developments

2) introduce the founding father of a new economic paradigm

3) prove the efficacy of tall hierarchies and close supervision

4y buttress the claim made in the same paragraph
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114-

According to the passage, most middle managers have been laid off because -——-—-—--—--,
1) they are no longer as much required as they used (o be

2) most organizations arc actually lorced Lo reduce their cosls

3) literacy among workers has now rcached unprecedented levels

4y workers now have more power due to their organization in unions

The passage mentions which of the following as a reason for the deeline in the number of
low-skilled jobs?

I) I'ierce competition to satisfy customers

2) Need for worker judgment

3) Use of computers at the workplace

4y Condensation of rule books

The word “their” in the last paragraph refers to -——--—---——-—-,

1) top management statt members

2) managers

3) organizaiional plavers

4) workers

The passage supplics information to answer which of the following questions?
1) Do a [ew guiding principles [ullill workers™ job requirements?

2) Does simplifying work tasks contribute to job satisfaction?

3) What has made close supervision impractical nowadays?

4) Why do people in offshore countries receive low wages?

PASSAGE 3:

Production techniques are currently being revolutionized by the introductlion. in many
industrics and many countrics, of “lean-production techniques,” alse known as
“Mexible manufacturing,” In order to understand the Ican-produciion revolution, onc
must distinguish the three tvpes of production techniques used today.

Craft methods employ highly skilled workers to make nonstandardized products
that are often tailor-made for individual purchasers. The result is usually an expensive
product of high quality. made by artisans who get considerable job satisfaction.

Mass-production methods are based on specialization and division of labor. They
use skilled personnel to design products and production methods. They then employ
relatively unskilled labor to produce standardized parts and to assemble them using
highly specialized, single-purpose machines. The parts are usually manulactured in
scparate locations, olten by disunct companics, and then assembled in a central
production [acility, ollen called an asscmbly line. The design ol the product is
centralized, and manufacturers bid competitively 1o produce parts to the stated
specilications, The cost of changing the specialized cquipment [rom the production of
one product variant 1o another is high, and thus specilic product types are produced for
as long as possible, The result is a standardized product, madce in a lairly small number
of variants, and produced at low cost with moderate quality.

I.ean production methods combine the flexibility and high-quality standards of craft
production with the low cost of mass-production techniques. 'They are lean because
they use less of all inputs, including time. labor, capital. and inventories. compared
with either of the other techniques. lhey are flexible because the costs of switching
from one product line to another are minimized.
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In lean production, workers are organized as teams; cach worker is encouraged (o
do all of the tasks assigned 1o the team, using cquipment that is less highly specialized
than equipment used in mass-production techniques. This emphasizes individuality
and initiative rather than a mind-numbing repetition of one unskilled operation. 1t also
helps workers to identify places where improvements can be made and encourages
them to follow up on these. Finally, it reduces the costs of switching equipment from
production of one product variant to another.

What does the passage mainly discuss?

1) The types of manufacturing methods in comimon use

2) The history of mass-production methods

3) The ability of workers to lcarn dillerent production methods

43y The limitations ol lcan-production methods

Who is responsible for the design of products in mass production?

1) Teams ol production workers

2) Individual purchasers

3) Skilled specialists

4) Managers

All of the following are true of mass-production techniques EXCEPT -------—--——---,

') workers perform a limited number of tasks

2) a product 1s manufactured for as long as possible

3) parts of the product may be manufactured in several locations

4) the machines used can be inexpensively adapted for more than one manufacturing
operation

According to the passage, which of the following is an area in which costs are lower in

lcan production than in mass production?

1) Transporting the finished product

2) Changing product lincs

3) Production spacc

4) Design

It can be inferred from the passage that workers who use lean-production techniques

e

1) have greater job satisfaction than mass-production workers

2) produce higher-quality products than craft production workers

3) are not required to have many skills

4) create nonstandardized products

Which of the following statements about lean-production technigues is supported by the
passage?

1) Many mass-produced products are not easily made with lean-production techniques.
2) [Lean-praduction techniques include some of the best elements of other methods.

3) Lean production is usually the most expensive method of production.

4) Lean-production techniques have primarily affected craft workers.
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